10t grade Demo
Read the text and answer the questions.

Education in England and Wales.

There are four types of schools in the English and Welsh education system — nursery,
primary, secondary and private schools. Scotland has its own education system, which is
different. Children start school at the age of five, but there is some free nursery-school
education before that age. The state nursery schools are not for all. They are for some
families, for example for families with only one parent. In most areas there are private
nursery schools. Parents who want their children to go to nursery school pay for their
children under 5 years old to go to these private nursery schools. Primary school is divided
into infant school (pupils from 5 to 7 years old) and junior school (from 8 to 11 years old).
In some areas there are middle schools instead of junior schools, which take pupils from
9 to 12 years old. Primary schools have from 50 to 200 pupils. Secondary schools are
usually much larger than primary schools and most children — over 80 per cent — go to a
comprehensive school at the age of 11. These schools are for all. Pupils do not need to
pass an exam to go to these schools. These schools are large. They have from 1,200 to
2,500 pupils. School lasts all day in the UK, so there is only one shift. In some areas there
are grammar schools. Pupils must pass special exams to go to these schools. Some
parents prefer private education. In England and Wales, private schools are called public
schools. They are very expensive. Only 5 per cent of the school population goes to public
schools. Public schools are for pupils from 5 or 7 to 18 years old. Some public schools
are day schools, but many public schools are boarding schools. Pupils live in the school
and go home in the holidays.

1. Choose the right synonym to the word in capital letters from the statement:
“Scotland has its own education system, which is DIFFERENT.”

A dissimilar

B identical

C unusual

D alike

2. Choose the right antonym to the word in capital letters from the statement:
“Primary schools HAVE from 50 to 200 pupils.”

A exclude

B include

C accommodate

D contain

3. Find the alternative meaning to the statement: “School lasts all day in the UK, so
there is only one shift.”

A In the United Kingdom, school lasts the entire day, therefore there is just one position.
B Schools do not last all day inside the United Kingdom, so there is only one shift.

C School endures all day within the UK, so there is not only one move.

D There may be different shifts for each schools.

4. Choose the right meaning to the statement: “Parents who want their children to go
to nursery school pay for their children under 5 years old to go to these private nursery
schools.”

A Parents who want their children to attend a private nursery school must pay for their
children under the age of five.



B Parents who want their children to attend a nursery school are allowed with no payment
for their children under the age of five to attend these private nursery schools.

C Mothers and fathers who want their kids to go to nursery school have to pay for their
kids more than five years.

D For children, whose age is less than five, attending a nursery school is free.

5. Choose the right meaning to the statement: “In most areas there are private
nursery schools.”

A Private nursery schools can be found in almost every neighborhood.

B In most areas there are public nursery schools.

C There are few private nursery schools in most areas.

D In few regions there are private nursery schools.

6. Choose the opposite meaning to the statement: “In England and Wales, private
schools are called public schools. They are very expensive.”

A Private schools are not referred to as public schools in England and Wales. They are
reasonably priced.

B Private schools are referred to as public schools in England and Wales. They are really
costly.

C In England and Wales, personal faculties are called public faculties. They may be very
steeply-priced.

D In England and Wales, non-public schools are known as public colleges. They are very
valuable.

7. Find the right sentence changed into the Passive Voice: “Pupils must pass
special exams to go to these schools.”

A To attend these schools the special exams must be passed by pupils.

B To attend these schools, students must pass a series of tests.

C To pass these schools the special exams must be attended by pupils.

D Pupils must attend and pass the special exams.

8. Find the correct word to the definition: “Relating to or denoting a system of
secondary education in which children of all abilities from a particular area are educated
in one school.”

A comprehensive school

B infant school

C private school

D specialized school

9. Find the TRUE statement from the text.

A Secondary schools are usually for all at the age of 11.

B To attend the secondary schools, students must pass an exam.

C In the United Kingdom there are several shifts in grammar schools.
D The majority of public schools are not boarding schools.

10. Find the FALSE statement from the text.

A Nursery schools are not appropriate for some families, especially such as those with
only one parent.

B Secondary schools are typically a good deal larger than primary schools.

C English and Welsh education systems are nursery, primary, secondary and private
schools.

D Private schools are referred to as public schools in England and Wales.



